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i
' Underline the option which best completes each of the following.

» (a) The stain to use when observing cheek cells under the microscope is
; iodine solution methylene blue starch water

1

/
(b) The union of a sperm and an egg is called

]
).' fertilisation mating reproduction sex
(c) An example of continuous variation is
handedness height

blood grouping gender

(d) The removal of faeces through the anus is called
egestion excretion expulsion

: digestion
/ (e) The gas absorbed by plants during photosynthesis is
| carbon dioxide hydrogen hitrogen oxygen

(f) The percentage of genes we inherit from our biological father is

0% 25% 50% 100%

(9) The process which releases energy from food in our cells is called

reproduction respiration

excretion perspiration

(8)

(h) A characteristic common to all spiders is
8 legs

a pair of wings 3 body parts 4 body parts

S.A. 28313129



Below are pictures of a specialised animal cell and a p\an\ cell.

a specialised animal cell a plant cell

%

(a) Identify each of the cells above and give one way in which their structure is adapted
to their function.

(i) name of the animal cell: .............ccooeeerrmmmsooooceeoo (1)
AAAPLALON. ...
.......................................................................................................................... (1)

(1) name of the plant Cell: ..................ccueeveeommeeeoeoeeeeeeeeoseeo (1)
BAAPIALON: ...t
.......................................................................................................................... (1)

(b) Organs are specialised structures to carry out particular functions.

Name two organs in the human body and briefly describe how each structure is
adapted to its function.

() OFGAN 1 oot (1)
AAAPTALON: .......es e
.......................................................................................................................... (1)

() OFGAN 21 oo (1)
AAAPLALION: ....ooooo oo
......................................................................................................................... (1)
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5. lzzy and Frankie wanted 10 investigate the effect of temperature on the rate of
photosynthesis in plants.

They used water at four different temperatures and counted the number of bubbles
produced by Elodea pondweed per minute at each temperature.

gas collecting
| i/ in tube

boiling tube

jamp %} :

thermometer

bk

I I L

water

inverted funnel

™ water plant

(a) Write down two factors, other than temperat '
d ure, wh
photosynthesis in plants. p ich affect the rate of

factor one: ........cocceveeeecevecceeerereeeeens
.................................................................... (1)
(1)
15 12
20 36
25
68 B
(b) (i) C '
) (i) Choose suitable scales and complete the axes of the graph opposite (
; 2)

e.
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o. Deowsadthagram ol a 5000 WED.

o, "~

grasshobpet\‘ e i

grass

(a) Use the diagram above to construct a food chain containing four organisms.

................................................................................................................................. (2)
An outbreak of disease dramatically reduces the size of the mouse population.
(c) Explain what effect this reduction in the number of mice would have on both the
eagle and the grasshopper population.
() The eagle population WOuld: .............ocovveo (1)
TIS 18 DORUSE. .ttt
.......................................................................................................................... (1)
(if) The grasshopper POPUIBHON WOUIS wsisierverrrsocssonssiomseeomenesmmperssiso . (1)
TGI8 D RSO ottt
.......................................................................................................................... (1)
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(b) The following
fetus.

Fill in the gaps using the most appropriate words.

passage is about human reproduction and the development of a

Fertilisation takes place in the ... . The fertilised egg
e B e || = - | R O—— and this develops inside
HNE MOTNEI'S v ceeeveemeeiesesrrss e . Whilst developing, an

example of a waste product which the fetus produces and needs to be removed

I8 1nemesusnsionnmaen nms s e SiEHHERAREE S Sa R mma s amn et S SRS . An example of a substance

which passes from the mother to the FEIUS IS wovververeeeeneeenmenseseesnaeseesemsannnsssesaesas (5)

(c) The diagram below shows a fetus developing inside its mother.

(2)

(i) Complete the two missing labels on the diagram above.

(i) Explain how the fetus is protected while it is developing inside its mother.

(Total marks: 60)
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